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Study the following information carefully
and answer the questions given below:
Ten persons A, B, C, D, E, F, G, H, I and J, are
sitting in two rows with five persons in each row
in such a way that one person in the first row
sits exactly opposite and facing a person in the
second row. Members of the first row are facing
North.
B sits in the first row to the immediate right of H
who sits exactly opposite of D. C is at the extreme
end of second row and is second to the left of D.
A is to the immediate right of D and exactly
opposite to F. G sits exactly opposite to E who is
at one of the ends of the second row. J does not
sit at the end.

1. Who is second to the left of B?
(a) I (b) G (c) H
(d) F (e) None of these

2. Which of the  following pairs of
persons are sitting at the two ends
of the first row?
(a) GJ (b) EI (c)GI
(d) EJ (e) None of these

3. Who sits exactly opposite of B?
(a) J (b) I (c) G
(d) A (e) None of these

4. Who is third to the left of E?
(a) D (b) I (c) H
(d) C (e) None of these

5. A sits between which of the following
persons?
(a) DJ (b) ED (c) FB
(d) BI (e) None of these

Study the following information carefully
and answer the questions given below:
A, B, C, D, E, F and G are sitting around a circle
facing at the centre. D is third to the left of A
who is second to the left of F. E is not a neighbour
of either F or D. Cis third to left of B.

6. What is E’s position with respect to
F?

(a) Third to the right
(b) Fourth of the left
(c) Second to the left
(d) Data inadequate
(e) None of these

7. Who is sitting between G and B?
(a) F only (b) D only
(c) Both F and D
(d) Data inadequate (e) None of these

8. Who is to the immediate left of D?
(a) C (b) G (c) F
(d) Data inadequate (e) None of these

9. Which of the following information
represents the first person sitting to
the immediate right of the second
person?
(a) AB (b) FG (c) CE
(d) AE (e) None of these

10. Who is second to the right of D?
(a) A (b) F (c)E
(d) Data inadequate (e) None of these

Study the following information carefully
and answer the questions given below:
P, Q, R, K, T, V and W are sitting around a circle
facing at the centre. R is third to the left of V
who is second to the left of T. W is second to the
right of P who is not an immediate neighbour of
V. S is not an immediate neighbour of W.

11. Who is second to the right of R?
(a) T (b) W (c) Q
(d) Data inadequate (e) None of these

12. Who is third to the left of P?
(a) S (b) W (3) Q
(d) Data inadequate (e) None of these

13. Who is third to the right of Q?
(a) T (2) P (c) S
(d) Data inadequate (e) None of these

14. In which of the following pairs is the
first person sitting to the immediate
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right of the second person?
(a) PR (b) PT (c) RW
(d) QV (e) None of these

15. Which of the following pairs
represents the immediate
neighbours of R?
(a) PT (b) PQ (c) WT
(d) PW (e) Data inadequate

Study the following information carefully
to answer these questions.
Eight friends A, B, C, D, E, F, G and H are sitting
around a circle, facing the centre. H is to the
immediate left of E who is third to the right of B.
C is second to the right of D and is not a neighbour
of B. F is second to the right of G and is not a
neighbour of C.

16. Who is second to the right of E?
(a) F (2) H (c) C
(d) A (e) None of these

17. Who is third to the left of A?
(a) B (b) H (c) E
(d) F (e) None of these

18. Which of the following pairs has the
First person sitting to the immediate
right of the second person?
(a) DA (b) AC (c) GC
(d) BF (e) None these

19. Four of the following five are alike in
a certain way and based on their
position in the above arrangement
and so form a group. Which is the one
that does not belong to the group?
(a) EC (b) AB (c) FD
(d) HA (e) CH

20. Who is to the immediate left of B?
(a) G (b) C (c) F
(d) D (e) None of these

Study tree following information carefully
to answer these questions.
Eight friends P, Q, R, S, T, V, W & X are sitting
around a circle facing the centre. X is third to the
right of R and second to the left of T. Q is not an
immediate neighbour of X or R. V is second to
the right of S and is an immediate neighbour of
R. W is to the immediate right of V.

21. Who is second to the right of R?
(a) V (b) W (c) P
(d) Cannot be determined
(e) None of these

22. Which of the following has the
second person sitting to the
immediate right of first person?
(a) QT (b) VR (c) XW
(d) PX (e) SR

23. Who is sitting to the immediate left
of T?
(a) P (b) Q (c) R
(d) S (e) None of these

24. Who is third to the right of W?
(a) S (b) P (c) T
(d) H (e) None of these

25. Four of the following five are alike in
a certain way on the basis of their
positions in the above arrangement
and so form a group. Which is the one
that does not belong to the group?
(a) SV (b) PQ (c) WP
(d) XV (e) QR

These questions are based on the;
following information. Study it carefully
and answer the questions.
Ten members A, B, C, D, E, F, G, H, I & J are split
into two teams X & Y of 5 members each,
members in the two teams are made to sit in
two teams facing rows other in such a way that
one member of team X is sitting exactly opposite
of a member in team Y. Members of team X an
facing North. D is third to the right of A and sits
exactly opposite of G. B sits to the immediate
right, of G and is facing South. H is third to the
right of B and is exactly opposite of F.C sits
between A & E and is opposite of I.

26. Who is second to the left of C?
(a) F (b) A (c)B
(d) D (e) None of these

27. Which of the following group of
persons sit in the same row?
(a) HIK (b) ACB (c) CDI
(d) HIG (e) None of these

28. Who is to the immediate right of B?
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(a) C (b) E (c) I
(d) A (e) None of these

29. Who is to the immediate left of J?
(a) H (b) C (c) E
(d) B (e) None of these

30. Who sits exactly opposite of J?
 (a) H (b) A (c) F
(d) C (e) None of these

Study the following information carefully
and answer the questions given below:
A, B, C, D, E, F, G & H are sitting around a circle
facing at the centre. G is fourth to the right of A
who is second to the right of D. E is second to
the right of C who is not an immediate neighbour
of G or D. B is second to the right of F.

31. In which of the following pairs is the
first person sitting to the immediate
right of the second person?
(a) EG (b) GF (c) HE
(d) BD (e) None of these

32. Who is third to the left of H?
(a) A (b) D (c) B
(d) Data inadequate
(e) None of these

33. Who is second to the right of H?
(a) E (b) G (c) F
(d) Data inadequate (e) None of these

34. What is F’s position with respect to
C?
(A) Fourth to the left
(B) Fifth to the left
(C) Fourth to the right
(D) Third to the right
(a) Only (A) (b) Only (B)
(c) Only (A) & (D) (d) Only (B) & (C)
(e) Only (A) & (C)

35. Who is to the immediate right of G?
(a) F (b) G (c) D
(d) Data inadequate
(e) None of these

Study the following information carefully
of answer the questions:
A, B, C, D, E, F, G and H are sitting around a
circle, facing the centre. E and G always sit next

to each other. D sits third to the right of C. F sits
second to the left of H. C never sits next to A
while D never sits next to G. H is not the neighbor
of D and C.

36. Who sits between A and D?
(a) B (b) F (c) C
(d) E (e) None of these

37. Who sits second to the left of B?
(a) F (b) G (c) A
(d) E (e) None of these

38. Who sits to immediate right of F?
(a) D (b) C (c) B
(d) A (e) None of these

39. Which of the following pairs sits
between B and F?
(1) HB (b) FD (c) BG
(d) GC (e) AH

40. Four of the following are alike in a
certain way based on their positions
in the seating arrangement and so
form a group. Which is the one that
does not belong to that group?
(a) CH (b) BA (c) FE
(d) DG (e) AC

Read of the following information carefully
to answer these questions:-

(i) A, B, C, D and E are sitting along a circle
facing the centre.

(ii) C is neighbour of A and B.

(iii) E is to the immediate left of B.

41. Which of the following is a false
statement?
(a) E is to the immediate right of D
(b) D is 2nd to the right of C
(c) A is 3rd to the right of E
(d) A is between C and D
(e) None of false

42. What is the position of D?
(a) To the immediate right of E
(b) 3rd to the right of B
(c) To the immediate left of A
(d) 2nd to the left of C
(e) None of these
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43. Which of the following is true
statement?
(a) A is 2nd to the left of B
(b) B is 2nd ro the left of D
(c) D is between A and E
(4) C is 3rd to the left of E
(e) None of these

These questions are based on the basis of
following, information. Study it carefully
and answer the questions.
Eight executives J, K, L, M, N, O, P, & Q are
sitting around a circular table for a meeting. J is
second to the right of P who is third to the right
of K. M is second to the left of O who sits Between
P & J, L is not a neighbour of K or N.

44. Who is to the immediate left of L?
(a) Q (b) O (c) K
(d) N (e) None of these

45. Who is to the immediate left of K?
(a) N (b) J (c) Q
(d) Cannot be determined
(e) None of these

46. Which of the following is the correct
position of N?
(a) Second to the right of K
(b) To the immediate left of K
(c) To the immediate right of M
(d) To the immediate right of K
(e) None of these

47. Who is third to the right of P?
(a) L (b) J (c) Q
(d) N (e) None of these

48. Which of the following groups of
persons have the first person sitting
between the other two?
(a) PJO (b) JOP (c) OPM
(d) MPO (e) None of these

Study the following information and
answer the questions given below:
M, N, P, R, T, W, F and H are sitting around a
circle at the centre, P is third to the left of M and
second to the right of T. N is second to the right
of P. R is second to the right of W who is second
to the right of M. F is not an immediate neighbour
of P.

49. Who is to the immediate right of P?
(a) H (b) F (c) R
(d) Data inadequate (e) None of these

50. Who is to the immediate right of H?
(a) R (b) F (c) M
(d) Data inadequate (e) None of these

51. Who is the immediate left of R?
 (a) P (b) H (c) W
(d) T (e) Data inadequate

51. Who is third to the right of H?
(a) T (b) W (c) R
(d) F (e) Data inadequate

51. Who is second to the right of F?
(a) M (b) R (c) T
(d) Data inadequate (e) None of these

54. In which of the following is the first
person sitting in between the second
and the third person?
(a) NHM (b) PHN (c) TRP
(d) TWF (e) None of these

Study the following information carefully
and answer the questions:
A, B, C, D, E, F, G and H are sitting around a
circle, facing the centre. A sits fourth to the right
of H while second to the left of F. C is not the
neighbour of F and B. D sits third to the right of
C. H never sits next to G.

55. Which of the following pairs sit
between H and G?
(a) BH (b) EF (c) CE
(d) DB (e) None of these

56. Who sits second to the right of B?
(a) A (b) C (c) D
(d) E (e) None of these

57. Which is the position of B with
respect to C?
(I) Second to the right
(II) Sixth to the left
(III) Third to the left
(IV) Fifth to the right
(a) Only II (b) Only II and III
(c) Only I and IV (d) Data inadequate
(e) Both III and IV
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58. Who amongst the following sits
between B and D?
(a) G (b) F (c) H
(d) A (e) C

59. Who is to immediate right of A?
(a) C (b) D (c) G
(d) Data inadequate (e) None of these

60. Four of the following are alike in a
certain way based on their positions
in the sitting arrangement and so
form a group. Which is the one that
does not belong to that group?
(a) AE (b) HF (c) BO
(d) GE (e) OH

Study the following information carefully and
answer the question given below:
M, D, P,  K, R, T and W are sitting around a
circle facing at the center. D is second to
the right of P who is third to the right of K.
T is third to the right of W who is not an
immediate neighbour of D. M is third to the
left of R.

61. Who is second to the right of T?
(a) D (b) K (c) M
(d) Data inadequate (e) None of these

62. In which of the following pairs is the
second person sitting to the
immediate right of the first person?
(a) DT (b) TP (c) PR
(d) KW (e) None of these

63. Who is to the immediate left of R?
(a) W (2) P (c) K
(d) T (e) None of these

64. Who is to the immediate left of M?
(a) K (b) W (c)D
(d) T (e) None of these

65. Who is third to the left of D?
(a) W (b) P (c) K
(d) Data inadequate (e) None of these

Study the following information carefully to
answer these questions:

(i) P, Q, R, S, T, U & V are sitting along a
circle  and are facing the centre.

(ii) P is between T and S.

(iii) U is between Q and V.

(iv) Q is 2nd to the right of T.

66. V is .............
(a) 2nd to the left of P
(b) Between P and U
(c) To the immediate left of U
(d) 4th to the left to T
(e) None of these

67. Which of the &following is the correct
statement?
(a) S is between R and P
(b) Q is between T and R
(c) P is 3rd to the left of Q
(d) S is to the immediate left of V
(e) None of these

68. What is the position of R?
(a) Cannot be determined
(b) Between Q and T
(c) To the immediate left of T
(d) 2nd to the right of Q
(e) None of these

Sitting Arrangement
1. (d)
2. (c)
3. (a)
4. (e)
5. (b)
6. (e)
7. (a)
8. (b)
9. (d)

10. (c)
11. (c)
12. (e)
13. (a)
14. (b)
15. (d)
16. (d)
17. (b)
18. (c)
19. (e)
20. (a)
21. (b)
22. (e)

23. (a)
24. (c)
25. (d)
26. (a)
27. (d)
28. (c)
29. (e)
30. (b)
31. (d)
32. (c)
33. (b)
34. (e)
35. (a)
36. (b)
37. (c)
38. (d)
39. (e)
40. (e)
41. (e)
42. (b)
43. (c)

44. (e)
45. (c)
46. (d)
47. (a)
48. (b)
49. (a)
50. (e)
51. (d)
52. (d)
53. (c)
54. (a)
55. (c)
56. (d)
57. (e)
58. (b)
59. (b)
60. (a)
61. (c)
62. (d)
63. (a)
64. (c)

65. (e)
66. (a)
67. (c)
68. (b)


